

PO No. | 4500104807

Date: 09/17/2018 Page 1 of 6

Ship To:

Bill To:

City of San Diego Billing Contact for Delivery Address PERFORMANCE & ANALYTICS 202 C STREET SAN DIEGO CA 92101 Billing Contact: Linnie Gray

Telephone:

E-Mail:LGRAY@SANDIEGO.GOV

Vendor: Deloitte Consulting LLC

1700 Market Street

Philadephia PA 19103-3984

Terms:

within 30 days Due net **Delivery Terms**:

FOB Destination

Buyer: Beverly Asbill-Gum

Telephone: 619-236-5923

E-Mail: BAsbillGumbs@sandiego.gov

Vendor ID: 10026735 Telephone:215-446-5631 E-Mail: mpinto@deloitte.com

Item ID/Description Quantity/Ord UoM Unit Price/Prc UoM Line# Del.Date **Extended Price** Serv# **Service Description Conv Factor** 1 **Get It Done Expansion** 09/04/2018 199,547 EA 100 FA USD 199.547.00 Deloite Consulting, LLP for Application Development and Maintenance Support for the Get It Done CC 3000011279 Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898 Item completely delivered Get It Done Expansion 09/04/2018 17,792 EA 1.00 EA USD 17,792.00 Deloite Consulting, LLP for Application Development and Maintenance Support for the Get It Done Expansion. CC 3000011279 Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898 **** Item completely delivered 3 Get It Done Expansion 09/04/2018 33,120 EA 1.00 EΑ USD 33,120.00 Deloite Consulting, LLP for Application Development and Maintenance Support for the Get It Done Expansion. CC 3000011279 Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898 Item completely delivered The Terms and Conditions of this Purchase Order are available at http://www.sandiego.gov/purchasing/vendor **SEE LAST PAGE**

IMPORTANT!

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to Billing Contact person at Bill-TO address listed above

SEE LAST PAGE FOR TOTAL



PO No. 4500104807

Date: 09/17/2018

Page 2 of 6

Line#	Item ID/Description Serv# Service Descript	Del.Date ion	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exten	ded Price
4	Get It Done Expansion	09/04/2018	46,080 EA	1.00 EA	USD	46,080.00
•	Deloite Consulting, LLP for Application Development and Maintenance Support Expansion.		40,000 EA	1.00 EA	030	40,000.00
	CC 3000011279					
***	Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898 Item completely delivered					
5	Get It Done Expansion	09/04/2018	133,029 EA	1.00 EA	USD	133,029.00
	Deloite Consulting, LLP for Application Development and Maintenance Suppor Expansion.	t for the Get It Done				
	CC 3000011279					
	Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898					
***	Item completely delivered					
6	Get It Done Expansion	09/04/2018	11,862 EA	1.00 EA	USD	11,862.00
	Deloite Consulting, LLP for Application Development and Maintenance Suppor Expansion.	t for the Get It Done				
	CC 3000011279					
***	Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898 Item completely delivered					
7	Get It Done Expansion Deloite Consulting, LLP for Application Development and Maintenance Suppor	09/04/2018 t for the Get It Done	22,080 EA	1.00 EA	USD	22,080.00
	Expansion.					
	CC 3000011279					
***	Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898					
	Item completely delivered					
8	Get It Done Expansion	09/04/2018	30,720 EA	1.00 EA	USD	30,720.00
The Term	ns and Conditions of this Purchase Order are availa	able at http://www.sandiego.go	v/purchasing/vendor	SEE LA	ST	PAGE
	IMPORTAI	AITI		FOR		



PO No. 4500104807

Date: 09/17/2018

Page 3 of 6

Deloite Consulting, LLP for Application Development and Maintenance Support for t Expansion. CC 3000011279 Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898 Item completely delivered GID ESD Extended Support - Manager Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant Modify PO 4500104807 Get It Done – ESD Extended Support	06/30/2019 06/30/2019	22 D	1937.60 D	USD	42,627.20
Department Contact: Alex Hempton ahempton@sandiego.gov 619-236-6898 Item completely delivered GID ESD Extended Support - Manager Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant Modify PO 4500104807					
Alex Hempton ahempton@sandiego.gov 619-236-6898 Item completely delivered GID ESD Extended Support - Manager Modify PO 4500104807 Get It Done - ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant Modify PO 4500104807					
GID ESD Extended Support - Manager Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant Modify PO 4500104807					
Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant Modify PO 4500104807					
Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant Modify PO 4500104807	06/30/2019	22 D	1702.40 D	USD	37,452.80
Item completely delivered GID ESD Extended Support - Sr Consultant Modify PO 4500104807	06/30/2019	22 D	1702.40 D	USD	37,452.80
GID ESD Extended Support - Sr Consultant Modify PO 4500104807	06/30/2019	22 D	1702.40 D	USD	37,452.80
Modify PO 4500104807	06/30/2019	22 D	1702.40 D	USD	37,452.80
•					
Get It Done – ESD Extended Support					
Item completely delivered					
GID ESD Extended Support - Sr Consultant	06/30/2019	22 D	1702.40 D	USD	37,452.80
Modify PO 4500104807					
Get It Done – ESD Extended Support					
Item completely delivered					
GID ESD Extended Support - Consultant	06/30/2019	7 D	1467.20 D	USD	10,270.40
Modify PO 4500104807					
Get It Done – ESD Extended Support					
Item completely delivered					
GID ESD Extended Support - Analyst	06/30/2019	22 D	1332.80 D	USD	29,321.60
Modify PO 4500104807					
Get It Done – ESD Extended Support					
Item completely delivered					
GID ESD Extended Support - Offshore Mgr	06/30/2019	22 D	432.00 D	USD	9,504.00
and Conditions of this Purchase Order are available	at http://www.sandiego.go	ov/purchasing/vendor	SEE L	AST	PAGF
IMPORTANT!					
prompt payments, PO # must appear on all sh	ipments and invoices;	all invoices must be			· ~ L
	GID ESD Extended Support - Sr Consultant Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Consultant Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Analyst Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Offshore Mgr and Conditions of this Purchase Order are available and Conditions of the condi	GID ESD Extended Support - Sr Consultant Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Consultant Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Analyst Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Analyst Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Offshore Mgr Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Offshore Mgr MOG/30/2019 And Conditions of this Purchase Order are available at http://www.sandiego.g	Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant 06/30/2019 22 D Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Consultant 06/30/2019 7 D Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Analyst 06/30/2019 22 D Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Analyst 06/30/2019 22 D and Conditions of this Purchase Order are available at http://www.sandiego.gov/purchasing/vendor	Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant 06/30/2019 22 D 1702.40 D Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Consultant 06/30/2019 7 D 1467.20 D Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Analyst 06/30/2019 22 D 1332.80 D Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Offshore Mgr 06/30/2019 22 D 432.00 D and Conditions of this Purchase Order are available at http://www.sandiego.gov/purchasing/vendor	Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Sr Consultant 06/30/2019 22 D 1702.40 D USD Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Consultant 06/30/2019 7 D 1467.20 D USD Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Analyst 06/30/2019 22 D 1332.80 D USD Modify PO 4500104807 Get It Done – ESD Extended Support Item completely delivered GID ESD Extended Support - Offshore Mgr 06/30/2019 22 D 432.00 D USD and Conditions of this Purchase Order are available at http://wwww.sandiego.gov/purchasing/vendor SEE LAST FOR TOT



PO No. 4500104807

Date: 09/17/2018

Page 4 of 6

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exter	nded Price
	Modify PO 4500104807					
	Get It Done – ESD Extended Support					
***	Item completely delivered					
15	GID ESD Extended Support - Offshore Sr	06/30/2019	22 D	296.00 D	USD	6,512.00
	Modify PO 4500104807					
	Get It Done – ESD Extended Support					
***	Item completely delivered					
16	GID ESD Extended Support - Conversion	06/30/2019	22 D	248.00 D	USD	5,456.00
	Modify PO 4500104807					
	Get It Done – ESD Extended Support					
***	Item completely delivered					
17	GID ESD Extended Support - Conversion	06/30/2019	22 D	248.00 D	USD	5,456.00
	Modify PO 4500104807					
	Get It Done – ESD Extended Support					
***	Item completely delivered					
18	GID ESD Extended Support - Consultant	06/30/2019	22 D	248.00 D	USD	5,456.00
	Modify PO 4500104807					
	Get It Done – ESD Extended Support					
	Enhanced support period for the Environmental Services Depa after transitioning from their legacy EPACS system to the new application. This enhanced support period will require additional on-site resources to support the following activities: •On-site end-user support at ESD's 3 main locations (Ridgehav Collections - Miramar, Landfill/Hazmat Facility) •Additional technical support to address data discrepancies and defects •Regular department status meetings to communicate and reviday) •Project leadership to manage staff, prioritize activities, and leastatus meetings with key client stakeholders					
***	Billing Contact: Crystal Schmidt cschmidt@sandiego.gov Item completely delivered					
19	Get It Done Expansion	01/10/2019	164,832.03 EA	1.00 EA	USD	164,832.03
The Tern	ns and Conditions of this Purchase Order are available at h	nttp://www.sandiego.go	ov/purchasing/vendor			
	IMPORTANT!			SEE LA		
	IIIII OKTANT:			FOR	IU	IAL



PO No. 4500104807

Date: 09/17/2018

Page 5 of 6

Line#	Item ID/De Serv#	scription Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	Modify PO 4500104807 - Deloit add \$345,429.71 total	te Consulting, LLC				
	CC 300011753					
	Department Contact: Alex Hempton ahempton@sandiego.gov					
***	Item partially delivered					
20	Get It Done Expansion		01/10/2019	14,696.74 EA	1.00 EA	USD 14,696.74
	Modify PO 4500104807 - Deloit add \$345,429.71 total	te Consulting, LLC				
	CC 300011753					
	Department Contact: Alex Hempton ahempton@sandiego.gov					
***	Item partially delivered					
21	Get It Done Expansion		01/10/2019	27,358.15 EA	1.00 EA	USD 27,358.1
	Modify PO 4500104807 - Deloit add \$345,429.71 total	te Consulting, LLC				
	CC 300011753					
	Department Contact: Alex Hempton ahempton@sandiego.gov					
***	Item partially delivered					
22	Get It Done Expansion		01/10/2019	38,063.52 EA	1.00 EA	USD 38,063.52
	Modify PO 4500104807 - Deloit add \$345,429.71 total	te Consulting, LLC				
	CC 300011753					
	Department Contact: Alex Hempton ahempton@sandiego.gov					
***	Item partially delivered					
23	Get It Done Expansion		01/10/2019	67,613.89 EA	1.00 EA	USD 67,613.89
	Modify PO 4500104807 - Deloit add \$345,429.71 total	te Consulting, LLC				
	CC 300011753					
	Department Contact: Alex Hempton					
The Term	ns and Conditions of this Purch	ase Order are available at h	ttp://www.sandiego.go	ov/purchasing/vendor	SEEIA	ST PAGE
		IMPORTANT!				TOTAL
o ensur	e prompt payments, PO # i o <i>Billing</i> Contact person at	nust appear on all shipm	nents and invoices;	all invoices must be		IOIAL



PO No. 4500104807

Date: 09/17/2018

Page 6 of 6

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exter	ided Price
	ahempton@sandiego.gov					
***	Item partially delivered					
24	Get It Done Expansion	01/10/2019	6,029.02 EA	1.00 EA	USD	6,029.02
	Modify PO 4500104807 - Deloitte Consulting, LLC add \$345,429.71 total					
	CC 300011753					
	Department Contact: Alex Hempton ahempton@sandiego.gov					
***	Item partially delivered					
25	Get It Done Expansion	01/10/2019	11,222.48 EA	1.00 EA	USD	11,222.48
	Modify PO 4500104807 - Deloitte Consulting, LLC add \$345,429.71 total					
	CC 300011753					
	Department Contact: Alex Hempton					
	ahempton@sandiego.gov 619-236-6898					
***	Item partially delivered					
26	Get It Done Expansion	01/10/2019	15,613.88 EA	1.00 EA	USD	15,613.88
	Modify PO 4500104807 - Deloitte Consulting, LLC add \$345,429.71 total					
	CC 300011753					
	Department Contact: Alex Hempton					
	ahempton@sandiego.gov 619-2366898					
***	Item partially delivered					
The Term	ns and Conditions of this Purchase Order are available at h	ttp://www.sandiego.g	ov/purchasing/vendor	Line Item Total	1	029,168.5°
	IMPORTANT!				р 1, В	0.00
	e prompt payments, PO # must appear on all shipm to Billing Contact person at Bill-To address listed abo					029,168.51